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QUESTION 1

What is the default RAID level for new aggregates on a DS44867
A. RAID-DP

B. RAID1

C. RAIDO

D. RAID5

Correct Answer: A

QUESTION 2
Exhibit
cl0l1::>fcpportname show Vserver

svml nl_6a 20:06:00:a0:98:1c:c3:1a svml n1_6b 20:07:00:a0:98:1c:c3:1a svml n2_6a 20:08:00:a0:98:1c:c3:1a svml
n2_6b 20:09:00:a0:98:1c:c3:1a svm2 fc-1-6a 20:0d:00:a0:98:1c:c3:1a svm2 fc-1-6b 20:0e:00:a0:98:1c:c3:1a

In the exhibit, two columns do not have names.
What are the two missing names? (Choose two.)
A. WWNN

B. Logical Interface

C. Physical Interface

D. WWPN

Correct Answer: BD

QUESTION 3

A volume with a single LUN shows 30% deduplication savings. However, the output of df on the cluster does not show
the 30% savings back to the volume or aggregate.

What is causing this behavior?

A. Volume space guarantee is set to none.
B. Volume space guarantee is set to volume.
C. LUN space reserve is disabled.

D. LUN space reserve is enabled.
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Correct Answer: A

QUESTION 4

A new server has been installed in your environment, but it is unable to see its NetApp boot LUN. You have narrowed
the problem down to the zoning on your Cisco switch which has the following configuration:

zone name z_NetAppvsan 400 memberpwwn 20:00:00:25:b5:c0:ff:ee memberpwwn 50:0a:09:84:8d:7¢:51:d5 zoneset
name zs_NetAppvsan 400 memberz_NetApp zoneset activate name zs_NetAppvsan 400

What is the problem with your zoning configuration?
A. The member does not reference the VSAN.

B. The zone and zoneset names do not match.

C. The zoneset was improperly activated.

D. The PWWN for your NetApp LIF is incorrect.

Correct Answer: D

QUESTION 5

A customer is configuring their host for FC connectivity to a clustered Data ONTAP storage solution. They have installed
a 4 GB FC HBA into the host and connected it with optical cables to an 8 GB FC switch. They have also connected the
UTAZ ports from the FAS2552 with 16 GB SFP+ optics installed using optical cables to the switch.

Which two actions will improve host FCP throughput? (Choose two.)

A. replacing the existing 8 GB FC switch with a new 16 GB FC switch.

B. replacing the switch with a 10 GB Ethernet switch

C. adding 16 GB FC HBA and appropriate optics

D. replacing the optical cables with copper TwinAx cables.

Correct Answer: BC
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